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QUESTION 1
Which of the following uses distance vector algorithms to determine the BEST network route to a destination address?

A. ISIS

B. OSPF

C. BGP

D. RIP

Answer: D

QUESTION 2

Drag and Drop Question

Drag and drop the following maximum speeds to their corresponding wireless standards.
Tokens can be used more than once.
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QUESTION 3
In which of the following layers of the OSlI model does the TCP protocol operate?

A. Session
B. Network
C. Datalink
D. Transport
Answer: D
QUESTION 4

Which of the following reside at a minimum of Layer 3 of the OSI model? (Select TWO).

A. Hub

B. Switch

C. MAC address
D. IPaddress

E. Router
Answer: DE
QUESTION 5

Which of the following protocolsisthe BEST choice for retrieving email on multiple devices?

A. IMAP4
B. SMTP
C. FTP

D. SNMPv3
Answer: A
QUESTION 6

A network technician is troubleshooting a user's connectivity problem, and has determined a probable cause. The technician is at
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which step in the troubleshooting methodol ogy?

A. Verify full system functionality
B. Identify the problem

C. Establish atheory

D. Implement the solution

Answer: C

QUESTION 7
Which of the following ports would Zach, atechnician, need to open on afirewall to allow SSH on the default port?

A. 20

B. 21

C. 22

D. 23
Answer: C
QUESTION 8

Which of the following protocols would Kurt, a technician, use to synchronize local date and time of a client workstation to that of a
server?

A. RTP
B. NTP
C. TFTP
D. ARP
Answer: B
QUESTION 9

A technician is developing a shortcut sheet for the network to be able to assist in future troubleshooting scenarios. Which of the
following should the network devices have to ease manageability efforts?

A. MAC spoofing
B. Dynamic IPs
C. MACfiltering
D. StaticIPs
Answer: D
QUESTION 10

Which of the following is used to describe trunking VLANSs on a network?

A. 802.1l1a
B. 802.11i
C. 802.1q
D. 802.1x
Answer: C
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